S4b Part 2 Mean from frequency table o sossmaths
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Alpha Exercise

The number of items purchased one day by 25 customers in a shop is shown
in the table.

(a) How many customers bought exactly two items? 3
(b) How many customers bought five or more items? 'q,

(c) What is the mean number of items purchased?
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Beta Exercise 1

100 archers take part in an archery contest. Each archer gets a score out of 6.
What is the mean score achieved by the archers?

Score Frequency [Pl Ff‘“/“’“’d
0 7

O
1 10 (O Meod\ Score
2 14 2%
3 20 AO = gﬂ = 3 -261
100
4 22 4
5 19 43
6 8 4%
100 324
Nerbe S~— Tokal of alk 00 scores
of oschers _
Beta Exercise 2
200 students sat a test. The results are shown in the table.
What was the mean score achieved by the students?
Score Frequency MNERRS Ft‘ui/\».anvs
0 0 0
1 1 |
2 0 0 MQDJ\ Score
3 4 A
4 14 56 = &
5 36 \5 O 200
6 48 2%%
7 42 204 = 6-5%
8 30 240
9 17 \5’5
10 8 80
200 \ 304
Number of A ‘\—loﬁ'»k DC OJ\L 200 Scores
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Gamma Exercise

The heights of 80 people are measured. The results are shown in the table.
Work out an estimate for the mean height of the people.

b |t e
120 < h < 130 |25 125
130 < h < 140 4 |35 540
140 < h < 150 8 | 45 \L&0
150 < h < 160 16 |55 2406
160 < h < 170 20 165 3300
170 < h < 180 23 |\ #5 L0725
180 < h< 190 8 | §5 \ 4 g0
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Explain the mistake

The frequency table shows the number of crisps found in 20 packs of crisps.

Erica uses the table to work out the mean number of crips in a packet is 12.8

crisps.

How can you tell Erica is wrong without even doing any calculations?

Number of

crisps Frequency
14 6
15 7
16 5
17 1
18 1
20
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Exam-style question 1

The table shows information about the shopping bills of 100 customers at a shop one
day. Work out an estimate for the mean amount spent in the shop by the 100 customers.

Bill total, £x Frequency AAQA"()O."\Q M:d"bl/\é be F‘\Q‘l/\’&ﬂ%
0<x <5 19 2 S A2.5
5<x<10 33 3.5 QL\q._S
10<x <15 27 |2.S 2371.5
15<x<20 17 \+.S 2971.5
20<x<25 4 22.5 Q0
100 [ 1020

Eshimeked mesn = 1020 - 1020

100
/

Pemembes, tus
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answer s £10.20,
NoT  £l10.2
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Exam-style question 2

Mr Sanderson’s class has 24 students. 23 of them have sat a test. Their scores are

shown in the table.

Jim sits the test later. Once his score is included, the mean mark achieved by the class is

exactly 6.125.

What score did Jim achieve?

Ser s
0 1

O
1 0 )
2 0 0
3 1 3
4 3 ‘2
5 1 =)
6 5 30
7 6 42
8 4 32
: 2 ) 8
! : ° Tobl of 23 scoces
23 WL <« (w%ole class EXCLUDING ZSSM)_

Mean

7_01'0»[ oC 011 24 scones
(once Jim’s s ‘md“U’Q - §.\25

—)—Ol’&l oc 011 24 Seored
(rce Jim’s is ‘mM)

. S\HV\ Sco rco\

= 6125 X 24= |47

\WF -2 = 5



